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Example

1. The hour hand of a clock is 6 cm long. Find the area swept by it

between 

A. 2.75

B. 5.5

C. 11

D. None of these

11: 20am and 11: 55am(incm2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TzoQsiifmsei


Answer: B

Watch Video Solution

2. In the figure given below,  is a square of side .  is an

arc of a circle of radius . 

A. 

B. 

C. 

ABCD 7cm BD

AB

14cm2

21cm2

28cm2

https://dl.doubtnut.com/l/_TzoQsiifmsei
https://dl.doubtnut.com/l/_lPtj4lv543Xz


D. 

Answer: C

Watch Video Solution

35cm2

3. The base of a right prism is a right angled triangle. The measure of

the base of the right angled triangle is 3 m and its height 4 m. If the

height of the prism is 7 m. then find 

(a) the number fo edges of the prism. 

(b) the volume of the prism.

(c) the total surface area of the prism.

Watch Video Solution

4. The dimensions of a room are  Find 

the diagonal of the room. 

(b) the cost of flooring at the rate of Rs. 2 per . 


12m × 7m × 5m.

m2

https://dl.doubtnut.com/l/_lPtj4lv543Xz
https://dl.doubtnut.com/l/_qGtD7QkDm3D3
https://dl.doubtnut.com/l/_TUPzBejOMcM9


(c ) the cost of whitewashing the room excluding the floor at the rate of

Rs. 3 per .

Watch Video Solution

m2

5. A box is in the form of a cube. Its dege is 5 m long. Find 

(a) the total length of the edges. 

(b) the cost of outside of the box, on all the surfaces, at the rate of Rs. 5

per . 


(c ) the volume of liquid which the box can hold.

Watch Video Solution

m2

6. The sum of the length, breadth and the height of a cuboid is  cm

and length of its diagonal is  cm. Find the total surface area of the

cuboid.

A. 

5√3

3√5

30cm2

https://dl.doubtnut.com/l/_TUPzBejOMcM9
https://dl.doubtnut.com/l/_BEJn5HpS1UTl
https://dl.doubtnut.com/l/_7gzpzuB3PCYA


B. 

C. 

D. 

Answer: C

Watch Video Solution

20cm2

15cm2

18cm2

7. A closed cylindrical container, the radius of which is 7 cm and height

10 cm is to be made out of a metal sheet. Find 

(a) the area of metal sheet required .

(b) the volume of the cylinder made. 

(c ) the cost of painting the lateral surface of the cylinder at the rate of

Rs. 4 per .

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_7gzpzuB3PCYA
https://dl.doubtnut.com/l/_ch1dDDhwaIaw


8. A cylindrical tank with radius 60 cm is being filled by a circular pipe

with internal iameter of 4 cm at the rate of 11 m/s. Find the height of

the water column in 18 minutes.

A. 66 m

B. 12.2 m

C. 13.2 m

D. 6.1 m

Answer:

Watch Video Solution

9. An hexagonal pyramid is 20 m high. Side of the baste is 5 m. Find the

volume and the slant height of the pyramid.

Watch Video Solution

https://dl.doubtnut.com/l/_eZWp8VBa2MW1
https://dl.doubtnut.com/l/_alEOTINh6QNq
https://dl.doubtnut.com/l/_FL6Uo22IvsWA


10. Find the volume of the greatest right circular cone, which can be cut

from a cube of a side 4 cm. (in )

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm3

12π

5

20π

3

18π

5

16π

3

11. A Joker's cap is in the form of a cone of radius 7 cm and height 24 cm.

Find the area of the cardboard required to make the cap.

Watch Video Solution

https://dl.doubtnut.com/l/_FL6Uo22IvsWA
https://dl.doubtnut.com/l/_yr1q29aB0bBN


12. The diameter of an incecream cone is 7 cm and its height is 12 cm.

Find the volume of icecream that the cone can contain.

Watch Video Solution

13. The diameters of top and bottom portions of a milk can are 56 cm

and 14 cm respectively. The height of the can is 72 cm . Find the 

(a) area of metal sheet required to make the can (without lid). 

(b) volume of milk which the container can hold.

Watch Video Solution

14. From a circular canvas of diameter 56 m, a sector of  was cut

out and a conical tent was formed by joining the straight ends of this

piece. Find the radius and the height of the tent.

Watch Video Solution

270∘

https://dl.doubtnut.com/l/_rrsnoCBBjZA7
https://dl.doubtnut.com/l/_X2ZeRg7E6Gl0
https://dl.doubtnut.com/l/_ITPI0SaCSonw
https://dl.doubtnut.com/l/_IvjzTkiVm1xS


15. The cost of painting a solid sphere at the rate of 50 paise per square

metre is Rs. 1232. Find the volume of steel required to make the sphere.

Watch Video Solution

16. A hollow hemispherical bowl of thickness 1 cm has an inner radius of

6 cm. Find the volume of metal required to make the bowl.

Watch Video Solution

17. A thin hollow hemispherical sailing vessel is made of metal covered

by a conical canvas tent. The radius of the hemisphere is 14 m and total

height of vessel (including the height of tent) is 28 m. Find area of metal

of metal sheet and the canvas required.

A. 

B. 

1235

1234

https://dl.doubtnut.com/l/_IvjzTkiVm1xS
https://dl.doubtnut.com/l/_iOWn1fG5zfPF
https://dl.doubtnut.com/l/_ErCSC7NP4VJf


C. 

D. 

Answer: 

Watch Video Solution

1233

1232

D

18. A wafer cone is completely filled with icecream forms a hemispherical

scoop, just covering the cone. The radius of the top of the cone, as well

as the height of the cone are 7 cm each. Find the volume of the

icecream in it (in ). (Take  and ignore the thickness of the

cone)

A. 1176

B. 1980

C. 1078

D. 1274

cm3 π = 22/7

https://dl.doubtnut.com/l/_ErCSC7NP4VJf
https://dl.doubtnut.com/l/_Dkrwej6EEXTH


Very Short Answer Type Questions

Answer:

Watch Video Solution

19. A jokers cap is in the form of a right circular cone of base radius  cm

and height  cm. Find the area of the sheet required to make  such

caps.

A. .

B. .

C. 

D. .

Answer: C

Watch Video Solution

7

24 10

6000cm2

5000cm2

5500cm2

5560cm2

https://dl.doubtnut.com/l/_Dkrwej6EEXTH
https://dl.doubtnut.com/l/_Saqb0bA92RYB


1. If the length of the side of an equilateral triangle is 12 cm, then what

is its in-radius?

Watch Video Solution

2. The radius of a circle is 8 cm and O is its centre. If  and

AB is a chord, then what is the length of the chord AB?

Watch Video Solution

∠AOB = 60∘

3. The circum-radius of an equilateral triangle is x cm. What is the

perimeter of the triangle in terms of x?

Watch Video Solution

4. If the difference between the outer radius and the inner radius of a

ring is 14 cm, then what is the difference between is outer

https://dl.doubtnut.com/l/_HmX7LSLVtjNs
https://dl.doubtnut.com/l/_4ddxi1yXLHj3
https://dl.doubtnut.com/l/_adRxVySMCDqK
https://dl.doubtnut.com/l/_BGgoMqBU2ZtI


circumference and innner circumference?

Watch Video Solution

5. The area of a ring is 22 . What is the difference of the square of

the outer radius and the square of the inner radius?

Watch Video Solution

cm2

6. A cone is formed by joining together the two straight edges of a

sector, so that they coincide with each other. The length of the arc of

the sector becomes the _______ of the circular base and radius of sector

becomes the ________ of the cone.

Watch Video Solution

7. The volume of a cube with diagonal d is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_BGgoMqBU2ZtI
https://dl.doubtnut.com/l/_wwIWq4psg4v6
https://dl.doubtnut.com/l/_WIQnMNYCmb8S
https://dl.doubtnut.com/l/_YugymMpTPEMa


8. If the total surface area of a cube is , then find its side.

Watch Video Solution

m350

3

9. Find the maximum number of soaps of size  that

can be kept in a cuboidal box of dimensions .

Watch Video Solution

2cm × 3cm × 5cm

6cm × 3cm × 15cm

10. Total number of faces in a prism which has 12 edges is ______.

Watch Video Solution

11. W, P, H and A are whole surface area, perimeter of base, height and

area of the base of a prism respectively. The relation between W, P, H

and A is ________.

https://dl.doubtnut.com/l/_YugymMpTPEMa
https://dl.doubtnut.com/l/_h6y74qYCku5B
https://dl.doubtnut.com/l/_WsndTv5NKOdX
https://dl.doubtnut.com/l/_1Q7AozmF9QKU
https://dl.doubtnut.com/l/_4OmzOCmO4aHX


Watch Video Solution

12. If s is the perimeter of the base of a prism, n is the number of sides

of the base, S is the total length of the edges and h is the height, then S

= ________.

Watch Video Solution

13. If the number of lateral surfaces of a right prism is equal to n, then

the number of edges of the base of the prism is _______.

Watch Video Solution

14. If , e, and v represent the number of rectangular faces, number of

edges and number of vertices repectively of a cuboid, then the values of

, e, and v respectively are _________.

Watch Video Solution

f

f

https://dl.doubtnut.com/l/_4OmzOCmO4aHX
https://dl.doubtnut.com/l/_UsMKXdtQeNIs
https://dl.doubtnut.com/l/_aGk8Q8ep5qtJ
https://dl.doubtnut.com/l/_V5Tvfbg5kCGz


15. Find the number of vertices of a pyramid, whose base is a pentagon.

Watch Video Solution

16. A and B are the volumes of a pyramid and a right prism respectively.

If the pyramid and the prism have the same base area and the same

height, then what is the relation between A and B?

Watch Video Solution

17. If the ratio of the base radii of two cones having the same curved

surface areas is , then the ratio of their slant heights is _______.

Watch Video Solution

6: 7

https://dl.doubtnut.com/l/_V5Tvfbg5kCGz
https://dl.doubtnut.com/l/_N5qzCyyPgE8o
https://dl.doubtnut.com/l/_QveIdhJu5Y92
https://dl.doubtnut.com/l/_F8SU5JGESg6q


18. The heights of two cones are equal and the radii of their bases are R

and r. The ratio of their volumes is _______.

Watch Video Solution

19. If the heights of two cylinders are equal and their radii are in the

ratio of , then the ratio of their volumes is ______.

Watch Video Solution

7: 5

20. Volumes of two cylinders of radii R, r and heights H, h respectively

are equal. Then  ________ .

Watch Video Solution

R2H =

21. The volumes of two cylinders of radii R, r and heights H, h

respectively are equal. If  then _______.R : r = 2: 3, H : h =

https://dl.doubtnut.com/l/_somX07LouoQn
https://dl.doubtnut.com/l/_6AyuAzZIc9bg
https://dl.doubtnut.com/l/_gJ74cbY5TitJ
https://dl.doubtnut.com/l/_BCYHSA6KUd5t


Watch Video Solution

22. A sector of a circle of radius 6 cm and central angle  is folded

into a cone such that the radius of the sector becomes the slant height

of the cone. What is the radius of the base of the cone thus formed?

Watch Video Solution

30∘

23. If R and r are the external and the internal radii of a hemispherical

bowl, then what is the area of the ring, which forms the edge of the

bowl (in sq. units)?

Watch Video Solution

24. What is the volume of a hollow cylinder with R, r and h as outer

radius, inner radius and height respectively?

Watch Video Solution

https://dl.doubtnut.com/l/_BCYHSA6KUd5t
https://dl.doubtnut.com/l/_yadZdkjYoWOW
https://dl.doubtnut.com/l/_NFAjr6bPxPgP
https://dl.doubtnut.com/l/_xbAcEFB8n97o


25. The side of a cube is equal to the radius of the sphere. Find the ratio

of their volumes.

Watch Video Solution

26. A sphere and the base of a cylinder have equal radii. The diameter of

the sphere is equal to the height of the cylinder. The ratio of the curved

surface are of the cylinder and surface area of the sphere is __________.

Watch Video Solution

27. A road roller of length  m and radius  can cover a field in 100

revolutions, moving once over. The area of the field in terms of  is

_________ .

Watch Video Solution

3l m
l

3

l

m3

https://dl.doubtnut.com/l/_xbAcEFB8n97o
https://dl.doubtnut.com/l/_6HQByZmd2VwS
https://dl.doubtnut.com/l/_sS4PAPMRgO3D
https://dl.doubtnut.com/l/_GfH57rbZepf4
https://dl.doubtnut.com/l/_x3dGFXJ2ZmMj


Short Answer Type Questions

28. What is the volume of sand to be spread uniformly over a ground of

dimensions.  up to a height of  m?

Watch Video Solution

10xm × 8xm 0.1x

29. The outer radius and the inner radius of a hollow cylinder are

 What is its thickness?

Watch Video Solution

(3 − x)cm and (2 − x)cm.

30. The slant height, outer radius and inner radius of a cone frustum are

2a cm, (a + b) cm and (a - b) cm. What is its curved surface area?

Watch Video Solution

https://dl.doubtnut.com/l/_x3dGFXJ2ZmMj
https://dl.doubtnut.com/l/_EQqArzBIu1zN
https://dl.doubtnut.com/l/_PdBWBjU03clz


1. A circle is inscribed in an equilateral triangle. If the in-radius is 21 cm,

what is the area of the triangle?

Watch Video Solution

2. Three cubes each of side 3.2 cm are joined end to end. Find the total

surface area of the resulting cuboid.

Watch Video Solution

3. A square is drawn with the length of side equal to the diagonal of a

cube. If the area of the square is , then find the side of the

cube.

Watch Video Solution

72075cm2

https://dl.doubtnut.com/l/_1E91kCVOA229
https://dl.doubtnut.com/l/_FM60E5ae0bFW
https://dl.doubtnut.com/l/_XZQdaXdLvc3r


4. What is the area of a ground that can be levelled by a cylindrical

roller of radius   and   long by making  rounds?

A.  

B.  

C.  

D.  

Answer: A

Watch Video Solution

3.5 m 4 m 10

880 m2

890 m2

830 m2

810 m2

5. A square of side 28 cm is folded into a cylinder by joining its two

sides. Find the base area of the cylinder thus formed.

Watch Video Solution

https://dl.doubtnut.com/l/_eqkDRZqSGoVc
https://dl.doubtnut.com/l/_AofzDj2namvS


6. Find the number of cubes of side 2 m to be dropped in a cylindrical

vessel of radius 14 m in order to increase the water level by 5 m.

Watch Video Solution

7. Find the capacity of a closed cuboidal cistern whose length is 3 m,

breadth is 2 m and height is 6 m. Also find the area of iron sheet

required to make the cistern.

Watch Video Solution

8. An open metallic conical tank is 6 m deep and itscircular top has

diameter of 16 m. Find the cost oftin plating its inner surface at the rate

of 0.8 per100 cm2. (Take = 3.14)

Watch Video Solution

π

https://dl.doubtnut.com/l/_EScSyt66afXT
https://dl.doubtnut.com/l/_UQqg8rT6w36A
https://dl.doubtnut.com/l/_JzW5dpWBNnuZ


9. The total surface area of a hemisphere is 3768cm2. Find the radius of

the hemisphere. (Take pi= 3.14)

Watch Video Solution

10. The base radius of a conical tent is 120 cm and itsslant height is 750

cm. Find the area of the canvasrequired to make 10 such tents (in m2).

(Take pi=3.14)

Watch Video Solution

11. From a cylindrical wooden log of length 30 cm and base radius 

cm, biggest cuboid of square base is made. Find the volume of wood

wasted.

Watch Video Solution

7√2

https://dl.doubtnut.com/l/_iykTu5fkV878
https://dl.doubtnut.com/l/_nYmpYTt490jm
https://dl.doubtnut.com/l/_kAGdx0oBgSSq


12. A right circular cone is such that the angle at its vertex is  and its

base radius is 49 cm, then find the curved surface area of the cone.

Watch Video Solution

90∘

13. The base of a right pyramid is an equilateral triangle, each side of

which is  cm long and its height is 4 cm. Find the total surface area

of the pyramid in .

Watch Video Solution

6√3

cm2

14. If the thickness of a hermispherical bowl is 12 cm and its outer

diameter is 10.24 m, then find the inner surface area of the hemisphere.

(Take ).

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_LxPuf0bKaqmq
https://dl.doubtnut.com/l/_ocmdHDJSZI4a
https://dl.doubtnut.com/l/_TH619LJHShdJ


15. A spherical piece of metal of diameter 6 cm is drawn into a wire of 4

mm in diameter. Find the length of the wire.

Watch Video Solution

16. Find the capacity of a closed rectangular cistern whose length is 8 m,

breadth 6 m and depth 2.5 m. Also, find the area of the iron sheet

required to make the cistern .

Watch Video Solution

17. An open metallic conical tank is 6 m deep and itscircular top has

diameter of 16 m. Find the cost oftin plating its inner surface at the rate

of 0.8 per100 cm2. (Take = 3.14)

Watch Video Solution

π

https://dl.doubtnut.com/l/_tVxONYhg5C6Q
https://dl.doubtnut.com/l/_7jaljFV1AJnl
https://dl.doubtnut.com/l/_wbfsHzIY8ogP


Essay Type Questions

18. The total surface area of a hemisphere is 3768cm2. Find the radius of

the hemisphere. (Take pi= 3.14)

Watch Video Solution

19. The base radius of a conical tent is 120 cm and itsslant height is 750

cm. Find the area of the canvasrequired to make 10 such tents (in m2).

(Take pi=3.14)

Watch Video Solution

1. The cost of the canvas required to make a conical tent of base radius

8 m at the rate of Rs. 40 per  is Rs. 10048. Find the height of the tent.

(Take )

Watch Video Solution

m2

π = 3.14

https://dl.doubtnut.com/l/_GPQ3tNbfkwwt
https://dl.doubtnut.com/l/_ffDZ1zwSQfjJ
https://dl.doubtnut.com/l/_hp5iwGlybKzi


2. A hollow sphere which has internal and external diameter as 16 cm

and 14 cm respectively is melted into a cone with a height of 16 cm. Find

the diameter of the base of the cone.

Watch Video Solution

3. A drum in the shape of a frustum of a cone with radii 24 ft and 15 ft

and height 5 ft is full of water. The drum is emptied into a rectangular

tank of base 99 ft  43 ft. Find the rise in the height of the water level

in the tank.

Watch Video Solution

×

4. A cylindrical tank of radius 7 m, has water to some level. If 110 cubes

of side 7 dm are completely immersed in it, then find the rise in the

water level in the tank. (in meters)

https://dl.doubtnut.com/l/_hp5iwGlybKzi
https://dl.doubtnut.com/l/_83LiSIY18KTL
https://dl.doubtnut.com/l/_IRBbxwMYCa3Y
https://dl.doubtnut.com/l/_dS0S5uGZmAeZ


Level 1

Watch Video Solution

5. A drum is in the shape of a frustrum of a cone with radii 24ft and 15ft

and height 5ft is full of water.The drum is emptied into a rectangular

tank of base 99ft×43ft.Find the rise in the height of the water level in the

tank.

Watch Video Solution

1. The area of a sector whose perimeter is four times its radius (r units)

is

A.  sq. units.

B.  sq. units.

C.  sq. units.

√r

r4

r2

https://dl.doubtnut.com/l/_dS0S5uGZmAeZ
https://dl.doubtnut.com/l/_QDK0j5DnnEjy
https://dl.doubtnut.com/l/_cr6UYiTkcnV4


D.  sq. units.

Answer: C

Watch Video Solution

t2

2

2. A chord of a circle of radius 28 cm makes an angle of  at the

centre. Find the area of the major segment.

A. 1456 

B. 1848 

C. 392 

D. 2240 

Answer: C

Watch Video Solution

90∘

cm2

cm2

cm2

cm2

https://dl.doubtnut.com/l/_cr6UYiTkcnV4
https://dl.doubtnut.com/l/_lKrFMowrunpD


3. The area of a circle inscribed in an equilateral triangle is  square

units. What is the perimeter of the triangle?

A.  units

B. 36 units

C. 72 units

D.  units

Answer: D

Watch Video Solution

48π

17√3

48√3

4. Two circles touch each other externally. The distance between the

centres of the circles is 14 cm and the sum of their areas is 308 .

Find the difference between radii of the circles. (in cm)

A. 1

B. 2

cm2

https://dl.doubtnut.com/l/_avEEjnTZEKKn
https://dl.doubtnut.com/l/_WhJacA52qLkc


C. 0

D. 0.5

Answer: D

Watch Video Solution

5. If the outer and the inner radii of a circular track are 7 m and 3.5 m

respectively, then the area of the track is ________.

A. 100 

B. 178 

C. 115.5 

D. 135.5 

Answer: A

Watch Video Solution

m2

m2

m2

m2

https://dl.doubtnut.com/l/_WhJacA52qLkc
https://dl.doubtnut.com/l/_npVIVvJq5tKM
https://dl.doubtnut.com/l/_35GBhda9KSpd


6. The base of a right pyramid is an equilateral triangle of perimeter 8

dm and the height of the pyramid is  cm. Find the volume of the

pyramid.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30√3

16000cm3

1600cm3

cm316000

3

cm35

4

7. The volume of a cuboid is . Its length is  m, breadth and

height are in the ratio . Find its height.

A.  m

B.  m

20√42m3 5√2

√3: √7

√7

3√7

https://dl.doubtnut.com/l/_35GBhda9KSpd
https://dl.doubtnut.com/l/_lfjXnOUt46pJ


C.  m

D.  m

Answer: C

Watch Video Solution

4√7

2√7

8. A metal cube of edge  m is melted and formed into three

smaller cubes. If the edges of the two smaller cubes are

, find the edge of the third smaller cube.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3√2

√5

m and m
3

√10

√5

√2

m
3

√7

m
6

√15

m
5

√11

m
4

√10

https://dl.doubtnut.com/l/_lfjXnOUt46pJ
https://dl.doubtnut.com/l/_bgx0LBS6PHDI


Watch Video Solution

9. Find the volume of the space covered by rotating a rectangular sheet

of dimensions  along its length.

A. 2846.25 

B. 2664 

C. 2864 

D. 2684 

Answer: D

Watch Video Solution

16.1cm × 7.5cm

cm3

cm3

cm3

cm3

10. The base of a right prism is an equilateral triangle of edge 12 m. If

the volume of the volume of the prism is , then its height is

________.

A. 6 m

288√3m3

https://dl.doubtnut.com/l/_bgx0LBS6PHDI
https://dl.doubtnut.com/l/_qPYpwohBeuQA
https://dl.doubtnut.com/l/_iABeiLBVRZud


B. 8 m

C. 10 m

D. 12 m

Answer: B

Watch Video Solution

11. A roller levelled an area of 165000  in 125 revolutions, whose

length is 28 m. Find the radius of the roller.

A. 7.5 m

B. 8.5 m

C. 6.5 m

D. 7 m

Answer: A

Watch Video Solution

m2

https://dl.doubtnut.com/l/_iABeiLBVRZud
https://dl.doubtnut.com/l/_WGYAd0zR2nzk


12. A large sphere of radius 3.5 cm is carved from a cubical solid. Find

the difference between their surface areas.

A. 122 

B. 80.5 

C. 144.5 

D. 140 

Answer: D

Watch Video Solution

cm2

cm2

cm2

cm2

13. In the figure given below, ABCD is a square of side 10 cm and a circle

is inscribed in it. Find the area of the shaded part as shown in the

https://dl.doubtnut.com/l/_WGYAd0zR2nzk
https://dl.doubtnut.com/l/_g80qNDOGRsfx
https://dl.doubtnut.com/l/_iHLcMaGk4xHO


figure. 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

( )cm2100 − 36π

41

( )cm2100 − 25π

8

( )cm2100 + 25π

8

https://dl.doubtnut.com/l/_iHLcMaGk4xHO


14. The outer curved surface area of a cylindrical metal pipe is 1100 

and the length of the pipe is 25 m. The outer radius of the pipe is _______.

A. 8 m

B. 9 m

C. 7 m

D. 6 m

Answer: C

Watch Video Solution

m2

15. The volume of a hemisphere is . What is the total surface

area of the hemisphere?

A. 

B. 

2.25πcm3

2.25πcm2

5πcm2

https://dl.doubtnut.com/l/_k5KCzKQVUkpA
https://dl.doubtnut.com/l/_Vz1daBHKHUX0


C. 

D. 

Answer: C

Watch Video Solution

6.75πcm2

4.5πcm2

16. Find the area of the figure given below, in which AB = 100 m, CE = 30

m, C is mid-point of  and D is mid-point of . 
¯̄̄ ¯̄¯AB ¯̄̄ ¯̄¯AC and ¯̄¯̄̄ ¯GF

https://dl.doubtnut.com/l/_Vz1daBHKHUX0
https://dl.doubtnut.com/l/_gujdiCeo7CZA


A. 5250 

B. 3750 

C. 3375 

D. 3175 

Answer: C

Watch Video Solution

m2

m2

m2

m2

https://dl.doubtnut.com/l/_gujdiCeo7CZA


17. The area of the base of a right equilateral triangular prism is

. If the height of the prism is 12 cm, then the lateral surface

area and the total surface area of the prism respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

16√3cm2

288cm2, (288 + 32√3)cm2

388cm2, (388 + 32√3)cm2

288cm2, (288 + 24√3)cm2

388cm2, (388 + 24√3)cm2

18. A metallic cone of diameter 32 cm and height 9 cm is melted and

made into identical spheres, each of radius 2 cm. How many such

spheres can be made?

A. 72

https://dl.doubtnut.com/l/_cvjHcQuNlJdI
https://dl.doubtnut.com/l/_EiEwXozm1vGb


B. 44

C. 52

D. 48

Answer: A

Watch Video Solution

19. A cylindrical vessel open at the top has a base radius of 28 cm. If the

total cost of painting the outer part of the vessel is Rs. 357 at the rate

of Rs. 0.2 per 100 , then find the height of the vessel.

(approximately)

A. 10 m

B. 9 m

C. 5 m

D. 4 m

cm2

https://dl.doubtnut.com/l/_EiEwXozm1vGb
https://dl.doubtnut.com/l/_sFTUwPVTgUIm


Answer: A

Watch Video Solution

20. The radii of the ends of a bucket 16 cm high are 20 cm and 8 cm. Find

the curved surface area of the bucket.

A. 1760 

B. 2240 

C. 880 

D. 3120 

Answer: A

Watch Video Solution

cm2

cm2

cm2

cm2

21. A cylindrical vessel of radius 8 cm contains water. A solid sphere of

radius 6 cm is lowered into the water until it is completely immersed.

https://dl.doubtnut.com/l/_sFTUwPVTgUIm
https://dl.doubtnut.com/l/_Eoa6Ij3Jqyw3
https://dl.doubtnut.com/l/_4XGiRQkJltA0


What is the rise in the water level in the vessel?

A. 3 cm

B. 3.5 cm

C. 4 cm

D. 4.5 cm

Answer: D

Watch Video Solution

22. What is the difference in the areas of the regular hexagon

circumscribing a circle of radius 10 cm and the regular hexagon

inscribed in the circle?

A. 50`cm^(2)

B. 

C. 

50√3cm2

100√3cm2

https://dl.doubtnut.com/l/_4XGiRQkJltA0
https://dl.doubtnut.com/l/_5WLpW1EaPeUg


D. 

Answer: B

View Text Solution

100√3cm2

23. In the shown figure, two circles of radii of 7 cm each, are shown.

ABCD is rectangle and AD and BC are the radii. Find the area of the

https://dl.doubtnut.com/l/_5WLpW1EaPeUg
https://dl.doubtnut.com/l/_ZdfngNvSVhvv


shaded region (in ). 


A. 20

B. 21

C. 19

D. 18

cm2

https://dl.doubtnut.com/l/_ZdfngNvSVhvv


Answer: B

Watch Video Solution

24. There si a closed rectangular shed of shed of dimensions 

inside a field. A cow is tied at one corner of outside of the shed with a 6

m long rope. What is the area that the cow can graze in the field?

A. 66 

B. 88 

C. 0.8

D. 27

Answer: B

Watch Video Solution

10m × 4m

m2

m2

πm2

πm2

https://dl.doubtnut.com/l/_ZdfngNvSVhvv
https://dl.doubtnut.com/l/_TIsU3JwIZUBw


25. The base of a right prism is a square of perimeter 20 cm and its

height is 30 cm. What is the volume of the prism?

A. 700 

B. 750 

C. 800 

D. 850 

Answer: B

Watch Video Solution

cm3

cm3

cm3

cm3

26. A concial cup when filled with icecream forms a hemispherical shape

on its open end. Find the volume of icecream (approximately), fi radius

of the base of the cone is 3.5 cm, the vertical height of cone is 7 cm and

width of the cone is negligible.

A. 120 cm3

https://dl.doubtnut.com/l/_KoxZJEXxFHRO
https://dl.doubtnut.com/l/_h2imWAOzPz81


B. 150 

C. 180 

D. 210 

Answer: C

Watch Video Solution

cm3

cm3

cm3

27. A hemispherical bowl of internal diameter 24 cm contains water. This

water is to be filled in cylindrical bottles, each of radius 6 cm and height

8 cm. How many such bottles are required to empty the bowl?

A. 3

B. 4

C. 5

D. 6

Answer: B

https://dl.doubtnut.com/l/_h2imWAOzPz81
https://dl.doubtnut.com/l/_4WrCz8p07YYR


Watch Video Solution

28. A dome of a building is in the form of a hemisphere. The total cost of

white washing it from inside, was Rs. 1330.56. The rate at which it was

white washed is Rs. 3 per square metre. Find the volume of the dome

approximately.

A. 1150.53 

B. 1050 

C. 1241.9 

D. 1500 

Answer: C

Watch Video Solution

m3

m3

m3

m3

https://dl.doubtnut.com/l/_4WrCz8p07YYR
https://dl.doubtnut.com/l/_6njLXKJcLmP6


29. The area of a sector whose perimeter is four times its radius (r units)

is

A.  sq. units.

B.  sq. units.

C.  sq. units.

D.  sq. units.

Answer: C

Watch Video Solution

√r

r4

r2

t2

2

30. A conical cup when filled with ice-cream forms a hemispherical shape

on its open end. Findthe volume of the ice-cream, if the radius of the

base of the cone is 3.5 cm and the verticalheight of the cone is 7 cm.

A. 120 

B. 150 

cm3

cm3

https://dl.doubtnut.com/l/_OG9zK0xnZkGw
https://dl.doubtnut.com/l/_A14XptSoTbWZ


Level 2

C. 180 

D. 210 

Answer: C

Watch Video Solution

cm3

cm3

1. A circular garden of radius 15 m is surrounded by a circular path of

width 7 m. If the path is to be covered with tiles at a rate of Rs. 10 per

, then find the total cost of the work. (in Rs.)

A. 8410

B. 7140

C. 8140

D. 7410

m2

https://dl.doubtnut.com/l/_A14XptSoTbWZ
https://dl.doubtnut.com/l/_8CGQ0EHrQeLi


Answer: C

Watch Video Solution

2. Find the area of the shaded region, given that the radius of each

circle is equal to 5 cm. 

A. 

B. 

(400 − 100π)cm2

(360 − 100π)cm2

https://dl.doubtnut.com/l/_8CGQ0EHrQeLi
https://dl.doubtnut.com/l/_pGGOBwbVTKPi


C. 231 

D. 

Answer: A

Watch Video Solution

cm2

(400 − 50π)cm2

3. The volume of a right prism, whose base in an equilateral triangle, is

 and the height of the prism is 125 cm. Find the side of the

base of the prism.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1500√3cm3

8√3cm

4√3cm

16√3cm

24√3cm

https://dl.doubtnut.com/l/_pGGOBwbVTKPi
https://dl.doubtnut.com/l/_hbWoXQUnjvz0


4. A right circular of volume 1386  is cut from a right circular

cylinder of radius 4 cm and height 49 cm, such that a hollow cylinder of

uniform thickness, with a height of 49 cm and an outer raidus of 4 cm is

left behind. Find the thickness of the hollow cylinder left behind.

A. 0.5 cm

B. 2 cm

C. 1.5 cm

D. 1 cm

Answer: D

View Text Solution

cm3

5. The volume of a hemisphere is . What si the total surface area

of the hemisphere?

18πcm3

https://dl.doubtnut.com/l/_hbWoXQUnjvz0
https://dl.doubtnut.com/l/_fwGe8iIuQYnJ
https://dl.doubtnut.com/l/_h6dKTDNdlX7r


A. 18

B. 27

C. 21

D. 24

Answer: B

Watch Video Solution

πcm2

πcm2

πcm2

πcm2

6. The diagram shown above has four circles of 7 cm radius with cintres

at A, B, C and D. If the quadrilateral ABCD represents a square, then find

https://dl.doubtnut.com/l/_h6dKTDNdlX7r
https://dl.doubtnut.com/l/_gwpwV3LIKiF6


the area of the shaded region. 

A. 42 

B. 21 

C. 63 

D. 84 

Answer: A

Watch Video Solution

cm2

cm2

cm2

cm2

https://dl.doubtnut.com/l/_gwpwV3LIKiF6


7. Find the total surface are of a hollow metallic hemisphere whose

internal radius is 14 cm and the thickness of the metal is 7 cm.

A. 4774 

B. 4477 

C. 4747 

D. 7744 

Answer: A

Watch Video Solution

cm2

cm2

cm2

cm2

8. A metal cube of edge  m is melted and formed into three smaller

cubes. If the edges of the two smaller cubes are  m and  m, find the

edge of the third smaller cube.

A. 

3

10
1

5

1

4

m
7
20

https://dl.doubtnut.com/l/_gwpwV3LIKiF6
https://dl.doubtnut.com/l/_FkNAfjizEr1g
https://dl.doubtnut.com/l/_P31aHgHSHLlc


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

m
1

20

m
3

20

9. Two hemispherical vessels can hold 10.8 litres and 50 litres of liquid

respectively. The ratio of their inner curved surface areas is ________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

16: 25

25: 9

9: 25

4: 3

https://dl.doubtnut.com/l/_P31aHgHSHLlc
https://dl.doubtnut.com/l/_ALXmlzWPNX34


10. A cylindrical drum 1.5 m in diameter and 3 m in height is full of water.

The water is emptied into another cylindrical tank in which water rises

by 2 m. Find the diameter of the second cylinder up to 2 decimal places.

A. 1.74 m

B. 1.94 m

C. 1.64 m

D. 1.84 m

Answer: D

Watch Video Solution

11. Curved surface are of conical cup is  and base radius is 7

cm. Find the angle at the vertex of the conical cup.

A. 

154√2cm2

90∘

https://dl.doubtnut.com/l/_ALXmlzWPNX34
https://dl.doubtnut.com/l/_Ink3HHJoVW4N
https://dl.doubtnut.com/l/_cfq6eASOBDL4


B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

45∘

30∘

12. An equilateral triangle has a circle inscribed in it and is

circumscribed by a circle. There is another equilateral triangle inscribed

in the inner circle. Find the ratio of the areas of the outer circle and the

inner equilateral triangle.

A. 

B. 

C. 

D. None of these

16π

3√3

8π

2√3

24π

3√3

https://dl.doubtnut.com/l/_cfq6eASOBDL4
https://dl.doubtnut.com/l/_CMLxNdxTFDTc


Answer: A

Watch Video Solution

13. A triangle has sides of 48 cm, 14 cm and 50 cm. Find its circum-radius

(in cm).

A. 25

B. 12.5

C. 20

D. 17.5

Answer: A

Watch Video Solution

14. The base of a pyramid is an n-sided regular polygon of area 360 .

The total surface area of the pyramid is 900 . Each lateral face of the

cm2

cm2

https://dl.doubtnut.com/l/_CMLxNdxTFDTc
https://dl.doubtnut.com/l/_3CqGmCWuG0na
https://dl.doubtnut.com/l/_gKztKEq3bHhw


pyramid has an area of 30 . Find n.

A. 20

B. 18

C. 16

D. 24

Answer: B

Watch Video Solution

cm2

15. In a right prism, the base is an equilateral triangle. Its volume is

 and its lateral surface area is 240 . Find its height (in cm).

A. 10

B. 5

C. 15

D. 20

80√3cm3 cm2

https://dl.doubtnut.com/l/_gKztKEq3bHhw
https://dl.doubtnut.com/l/_P62Wbt0g9Gdi


Answer: D

Watch Video Solution

16. A goat is tied to one corner of a field of dimensions 16 m  10m

with a rope 7 m long. Find the area of the field that the goat can graze. 

The following are the steps involved in solving the above problem.

Arrange them in sequential order. 

(A) Required area = 38.5  


(B) Area of the field that the goat can graze = Area of the sector of

radius 7 m and a sector angle of  


(C ) 

A. ABC

B. BCA

C. BAC

D. CBA

×

m2

90∘

× × (7)290∘

360

22

7

https://dl.doubtnut.com/l/_P62Wbt0g9Gdi
https://dl.doubtnut.com/l/_subLQqIlAzek


Answer: B

Watch Video Solution

17. A right prism has a triangular base. If its perimeter is 24 cm and

lateral surface area is 192 , find its height. 


The following are the steps involved in solving the above problem.

Arrange them in sequential order. 

(A) 192 = 24  h 


(B) Given, LSA = 192 , Perimeter of the base = 24 cm 


(C ) h = 8 cm 

(D) Lateral surface area of a prism = Perimeter of the base  Height

A. BADC

B. BCAD

C. DABC

D. BDAC

cm2

×

cm2

×

https://dl.doubtnut.com/l/_subLQqIlAzek
https://dl.doubtnut.com/l/_T8ewKY7PL8mr


Answer: D

Watch Video Solution

18. A metal cube of edge  m is melted and formed into three smaller

cubes. If the edges of the two smaller cubes are  and  find the

edge of the third smaller cube.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

3

10

m
1

5
m,

1

4

m
7
20

m
1

20

m
3

20

https://dl.doubtnut.com/l/_T8ewKY7PL8mr
https://dl.doubtnut.com/l/_XPP6sbbFYDKE


19. An equilateral triangle has a circle inscribed in it and is

circumscribed by a circle. There is another equilateral triangle inscribed

in the inner circle.Find the ratio of the areas of the outer circle and the

inner equilateral triangle.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

16π

3√3

8π

2√3

24π

3√3

20. A triangle has sides of 48 cm, 14 cm and 50 cm. Find its circum-radius

(in cm).

A. 25

https://dl.doubtnut.com/l/_ybKTahKKJAKO
https://dl.doubtnut.com/l/_CNx4w46oxMnU


Level 3

B. 12.5

C. 20

D. 17.5

Answer: A

Watch Video Solution

1. An ink pen, with a cylindrical barrel of diameter 2 cm and height 10.5

cm, and completely filled with ink, can be used to write 4950 words. How

many words can be written using 400 ml of ink ? 

(Take 1 litre = 1000 )

A. 40000

B. 60000

C. 45000

cm3

https://dl.doubtnut.com/l/_CNx4w46oxMnU
https://dl.doubtnut.com/l/_ST7sYal3uEXI


D. 80000

Answer: B

Watch Video Solution

2. Each of height and side of the base of a regular hexagonal pyramid is

equal to x cm. Find its lateral surface area in terms of x (in ).

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cm2

x29√7
2

x27√7
2

x25√7
2

x23√7
2

https://dl.doubtnut.com/l/_ST7sYal3uEXI
https://dl.doubtnut.com/l/_ij6NfwoiApCi


3. The diameters of the top and the bottom portions of a bucket are 42

cm and 28 cm. If the height of the bucket is 24 cm, then find the cost of

painting its outer surface at the rate of 5 paise/ .

A. Rs. 158.25

B. Rs. 172.45

C. Rs. 168.30

D. Rs. 164.20

Answer: C

Watch Video Solution

cm2

4. In the following figure, a circle a inscribed in square ABCD and the

square is circusmscribed by a circle. If the radius of the smaller circle is r

https://dl.doubtnut.com/l/_joMAMfkT7ZDZ
https://dl.doubtnut.com/l/_2vXXCCjfzFG6


cm, then find the area of the shaded region (in ). 


A. 

B. 

C. 

D. 

Answer: D

cm2

( )r2π − 2

4

( )r23π − 4
2

( )r2π + 2

4

( )r2π − 2

2

https://dl.doubtnut.com/l/_2vXXCCjfzFG6


Watch Video Solution

5. ABCD is a square of side 4 cm. If E is a point in the interior of the

square such that CED is equilateral, then find the area of ACE (in 

).

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ △

cm2

2(√3 − 1)

4(√3 − 1)

6(√3 − 1)

8(√3 − 1)

https://dl.doubtnut.com/l/_2vXXCCjfzFG6
https://dl.doubtnut.com/l/_voCaJZAYdZMW


6.  In the

given figure (not to scale),

. Find the area of the figure (in )

A. 4550

B. 4200

C. 4250

D. 4100

QT = 90m and UR = 50m. QU : UT = UV : V T = 1: 2. PV : V S = 4: 5

m2

https://dl.doubtnut.com/l/_0Gkl4g7zFpBj


Answer: A

Watch Video Solution

7.  is a regular hexagon circumscribing a circle.  is a regular

hexagon inscribed in the circle. Find the ratio of areas of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H1 H2

H1 and H2

4: 3

2: 1

3: 1

3: 2

8. A dish, in the shape of a frustum of a cone, has a height of 6 cm. Its

top and its bottom have radii of 24 cm and 16 cm respectively. Find its

https://dl.doubtnut.com/l/_0Gkl4g7zFpBj
https://dl.doubtnut.com/l/_6xJ7Od35FxoD
https://dl.doubtnut.com/l/_c42214ECpkq4


curved surface area (in ).

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cm2

240π

400π

180π

160π

9. Two circles touch each other externally. The sum of their area is

. Their centres are separated by 28 cm. Find the difference of

their radii (in cm).

A. 14

B. 7

C. 10.5

490πcm2

https://dl.doubtnut.com/l/_c42214ECpkq4
https://dl.doubtnut.com/l/_qekBzIWaq65D


D. 3.5

Answer: A

Watch Video Solution

10. A closed rectangular shed has dimensions 21 m  14 m. It is inside a

field. A cow is tied outside the shed at one of its corners with a 21 m

rope. Find the area over which the cow can graze (in ).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

×

m2

342π

294π

343π

441π

https://dl.doubtnut.com/l/_qekBzIWaq65D
https://dl.doubtnut.com/l/_Sw5MzmUaCPPD
https://dl.doubtnut.com/l/_sjZrif0YJs9C


11. In the given figure, PQRS is a square of diagonal  cm. With P as

the centre, the arc QS is drawn. Find the area of the shaded region (in

). 


A. 

B. 

C. 

D. 

Answer: A

7√2

cm2

(π − 2)
49
4

(π − 1)
49
4

(π − 3)
49
4

(π − 2)
49
2

https://dl.doubtnut.com/l/_sjZrif0YJs9C


Watch Video Solution

12. Three solid cubes have a face diagonal of  cm each. Three other

solid cubes have a face diagonal of  cm each. All the cubes are

melted together to form a cube. Find the side of the cube formed in

cm).

A. 

B. 

C. 12

D. 24

Answer: C

Watch Video Solution

4√2

8√2

3√324

3√576

https://dl.doubtnut.com/l/_sjZrif0YJs9C
https://dl.doubtnut.com/l/_gdFE7R1nIQen


13. The outer radius and the inner radius of a 30 cm long cylindrical gold

pipe are 14 cm and 7 cm respectively. It is filled with bronze. The

densities of gold and bronze are 20gm/  and 30gm/  respectively.

Find the weight of the cylinder formed. (in gm)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

cm3 cm3

66150π

99225π

132300π

198450π

14. A rectangular sump has an inner length and breadth of 24 m and 20

m respectively. Water flows through an inlet pipe at 180 m per minute.

The cross-sectional area of the pipe is 0.5 . The tank takes half an

hour to get filled. Find the depth of the sump (in m).

m2

https://dl.doubtnut.com/l/_PUXzYGbm8ZVa
https://dl.doubtnut.com/l/_ZBLbwSoy7GxM


A. 4.625

B. 6.125

C. 5.625

D. 5.125

Answer: C

Watch Video Solution

15. An ink pen, with a cylindrical barrel of diameter  and height

 and completely filled with ink, can be used to write  words.

How many words can be written using  of ink?(Take 1 litre=

)

A. 40000

B. 60000

C. 45000

2cm

10.5cm, 4950

400ml

1000cm3

https://dl.doubtnut.com/l/_ZBLbwSoy7GxM
https://dl.doubtnut.com/l/_72nvzs0SlA87


D. 80000

Answer: B

Watch Video Solution

16. Each of height and side of the base of a regular hexagonal pyramid is

equal to   Find its lateral surface area in terms of  

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cm. x cm2.

x29√7
2

x27√7
2

x25√7
2

x23√7
2

https://dl.doubtnut.com/l/_72nvzs0SlA87
https://dl.doubtnut.com/l/_l06Y7kpBStVg


17. The diameters of the top and the bottom portions of a bucket are

 and  If the height of the bucket is  then find the cost

of painting its outer surface at the rate of .

A. Rs. 158.25

B. Rs. 172.45

C. Rs. 168.30

D. Rs. 164.20

Answer: C

Watch Video Solution

42cm 28cm. 24cm,

5
paise

cm2

18. ABCD is square of side  cm. If E is point in the interior of the square

such that  is equilateral, then find the area of  in 

A. 

B. 

4

ΔCED ΔACE cm2

2(√3 − 1)

4(√3 − 1)

https://dl.doubtnut.com/l/_KaqPMeP7YBcx
https://dl.doubtnut.com/l/_lJYp3dgJGycQ


C. 

D. 

Answer: B

Watch Video Solution

6(√3 − 1)

8(√3 − 1)

19.  is a regular hexagon circumscribing a circle.  is a regular

hexagon inscribed in the circle. Find the ratio of areas of  and 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H1 H2

H1 H2

4: 3

2: 1

3: 1

3: 2

https://dl.doubtnut.com/l/_lJYp3dgJGycQ
https://dl.doubtnut.com/l/_5JJqeAHISksp
https://dl.doubtnut.com/l/_neZ6OyWpWL00


20. A dish, in the shape of a frustum of a cone, has a height of 6 cm. Its

top and its bottom have radii of 24 cm and 16 cm respectively. Find its

curved surface area (in ).

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cm2

240π

400π

180π

160π

21. Two circles touch each other externally. The sum of their areas is

. Their centres are separated by . Find the difference of

their radii (in cm)

A. 14

490πcm2 28cm

https://dl.doubtnut.com/l/_neZ6OyWpWL00
https://dl.doubtnut.com/l/_VrSOE48A8j7A


B. 7

C. 10.5

D. 3.5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VrSOE48A8j7A

